CS 310 Quiz 7, 3/31/08
1. Give an example of two
a. reference architecture

OSI seven layer architecture

A CASE model such as in the text   
b. generic model

A compiler
      c.   distributed object (peer-to-peer) architecture

           Old Napster
2. Define/describe one of 
a. lexical analysis: converting input (often a program in a programming language or natural language text) to a stream of tokens. Significance: there is a generic model that includes lexical analysis as one of its components.
b. data mining: integrating data from multiple databases. Significance: an example of distributed objects.
3. Describe the difference between a fat client and a thin client, giving an example where each might work best.  

Thin client: most processing is done on the host. This works well for the CS 10x grading system which needs to interface to a database on the host. Other examples: Amazon, Facebook.
Fat client: most processing is done on the client. This would work well for an application that dependent on Java applets and/or game programs with lots of video processing on the client. Other examples, applications that use a lot of Javascript
